

SPORTS CARD

INVESTMENT REPORT

HOW TO MAKE HUNDREDS OF DOLLARS BUYING JOE BURROW CARDS NOW

Joe Burrow is one of the hottest cards in the market and has been for the past few years already. This year there are a lot of expectations on Burrow and the Bengals to make it to the Superbowl! With this hype comes rising card prices. Now is the time to make your moves to be in position to profit off of Burrow in August! I have laid out 15 different card flipping, money making ideas for you! If you want to learn how to make hundreds or maybe even thousands of dollars on Joe Burrow this summer, then this article is for you!

Just as we have laid out in a previous article, Joe Burrow is a buy in bulk and get graded play, and NOW is the time to do it! If you haven't read the article on the math behind what I am about to show you, click on this link Learn How To Make Hundreds of Dollars on Baseball, Basketball, Football, Hockey and Soccer Card Plays - NoOffseason.com I Sports Card Strategy & Investment Reports and read about other viable plays before reading the rest of this so that you understand the equation on how to flip this card for profit. You can buy however many your budget allows, however I use 20 cards because that is what it takes to get the bulk grading submission at PSA.

2020 Select Concourse Silver #46 Raw \$14.51 5/12/23 PSA 9 \$61 5/12/23 PSA 10 \$183 5/14/23 1175 Graded Cards by PSA 443 PSA 9's = 37.7% 695 PSA 10's = 59.1% $20 \times $14.51 = 290.20 $20 \times $19 = 380 **Shipping Cost \$50** \$720.20 total investment $20 \times .377 = 7.54 R2 8$ $20 \times .591 = 11.82 R2 12$ $8 \times $61 = 488 12 x \$183 = \$2196 \$488 + \$2196 = \$2684 \$2684 - \$720.20 = \$1963.80 Potential Profit



2020 Select Premier Silver #146 Raw \$58.65 5/14/23 PSA 9 \$60 5/15/23 PSA 10 \$249 5/15/23 861 Graded by PSA 353 PSA 9's = 41%474 PSA 10's = 55.1% $20 \times $58.65 = 1173 $20 \times $19 = 380 \$50 Shipping Cost \$1603 Total Investment $20 \times .41 = 8.2 R2 9$ $20 \times .551 = 11.02 R2 11$ $9 \times $60 = 540 $11 \times $249 = 2739 \$540 + \$2739 = \$3279 \$3279 - \$1603 = \$1676 Potential Profit



2020 Select Club Level Silver #246 Raw \$45 5/14/23 PSA 9 \$54.28 5/6/23 PSA 10 \$399 5/9/23 572 Graded by PSA 283 PSA 9's = 49.5%

264 PSA 10's = 46.2%

20 x \$45 = \$900

 $20 \times $19 = 380

\$50 shipping costs

\$1330 total investment

20 x .495 = 9.9 R2 10

 $20 \times .462 = 9.24 R 10$

 $10 \times $54.28 = 542.80

10 x \$399 = \$3990

\$542.8 + \$3990 = \$4532.80

\$4532.80 - \$1330 = \$3202.80 Potential Profit



2020 Field Level Silver #346 Raw \$325 5/13/23 PSA 9 \$325 4/16/23 PSA 10 \$936 5/14/23 757 Graded by PSA 214 PSA 9's = 28.3% 508 PSA 10's = 67.1% $20 \times $325 = 6500 $20 \times $19 = 380 \$50 shipping Costs \$6930 total Investment $20 \times .283 = 5.66 R2 6$ $20 \times .671 = 13.42 R2 14$ 6 x \$325 = \$1950 $14 \times $936 = 13104 \$1950 + \$13104 = \$15054 \$15054 - \$6930 = \$8124 Potential Profit



2020 Optic Holo #151 Raw \$173 5/14/23 PSA 8 \$95.88 5/14/23 PSA 9 \$195 5/14/23 PSA 10 \$540 5/10/23 2608 Graded by PSA 118 PSA 8's = .01% 1216 PSA 9's = 46.6% 1232 PSA 10's = 47.2% $20 \times $173 = 3460 $20 \times $19 = 380 \$50 shipping costs \$3890 Total Investments $20 \times .01 = .2 R2 1$ $20 \times .466 = 9.32 R2 10$ $20 \times .472 = 9.44 R2 9$ $1 \times $95.88 = 95.88 $10 \times $195 = 1950 9 x \$540 = \$4860 \$95.88 + \$1950 + \$4860 = \$6905.88 \$6905.88 - \$3890 = \$3015.88 Potential Profit Crack and resubmit candidate BGS 9.5 \$300 last sale 3/26/23 SGC 9.5 \$92 last sale 12/4/23 SGC 10 \$400 last sale 3/27/23

PSA 10 \$540 last sale 5/14/23



2020 Optic Base #151 Raw \$36 5/14/23 PSA 8 \$27 5/14/23 PSA 9 \$45.58 5/14/23 PSA 10 \$150 5/14/23 3401 Graded by PSA 190 PSA 8's = 5.6% 1639 PSA 9's = 48.2% 1524 PSA 10's = 44.8% $20 \times $36 = 720 $20 \times $19 = 380 \$50 shipping costs \$1150 total investment $20 \times .056 = 1.12 R21$ $20 \times .482 = 9.64 R2 10$ $20 \times .448 = 8.96 R2 9$ $1 \times $27 = 27 $10 \times $45.58 = 455.80 $9 \times $150 = 1350 \$27 + \$455.80 + \$1350 = \$1832.80 \$1832.80 - \$1150 = \$682.80 Potential Profit



2020 Prizm Base #307 Raw \$42.16 5/15/23 PSA 8 \$41 5/2/23 PSA 9 \$47 5/14/23 PSA 10 \$240 5/14/23 12922 Graded by PSA 651 PSA 8's = 5%6075 PSA 9's = 47% 6087 PSA 10's = 47.1% $20 \times $42.16 = 843.20 $20 \times $19 = 380 \$50 shipping Costs \$1273.20 Total Investment $20 \times .05 = 1$ $20 \times .47 = 9.4 R2 10$ $20 \times .471 = 9.42 R2 9$ $1 \times $41 = 41 $10 \times $47 = 470 $9 \times $240 = 2160 \$41 + \$470 + \$2160 = \$2671 \$2671 - \$1273.20 = \$1397.80 potential Profit Crack and resubmit candidate on base prizm SGC 9.5 last sale \$84 5/7/23 BGS 9.5 last sale \$122 4/26/23 PSA 10 last sale \$240 5/14/23



2020 Prizm Silver #307 Raw \$450 5/6/23 PSA 8 \$260 5/7/23 PSA 9 \$445 5/11/23 PSA 10 \$2100 5/1/23 1090 Graded by PSA 155 PSA 8's = 14.2% 673 PSA 9's = 61.7% 222 PSA 10's = 20.3% $20 \times $450 = 9000 $20 \times $19 = 380 \$50 shipping costs \$9430 total investment 20 x 2.84 R2 3 $20 \times .617 = 12.34 R2 13$ $20 \times .203 = 4.06 R2 4$ $3 \times $260 = 780 $13 \times $445 = 5785 4 x \$2100 = \$8400 \$780 + \$5785 + \$8400 = \$14965 \$14965 - \$9430 = \$5535 Potential Profit Crack and resubmit candidate on the silver prizm



2020 Prizm Orange Disco Color Match Prizm

SGC 9.5 last sale \$375 1/10/23 PSA 9 last sale \$445 5/11/23 PSA 10 last Sale \$2100 5/1/23

#307 Raw \$180 5/6/23 PSA 8 \$72 4/17/23 PSA 9 \$180 5/6/23 PSA 10 \$600 5/8/23 1563 Graded by PSA 103 PSA 8's = 6.6% 736 PSA 9's = 47%704 PSA 10's 45% $20 \times $180 = 3600

 $20 \times $19 = 380

\$50 shipping costs

\$4030 total investment

 $20 \times .066 = 1.32 R2 2$

 $20 \times .47 = 9.4 R2 9$

 $20 \times .45 = 9$

 $2 \times $72 = 144

 $9 \times $180 = 1620

 $9 \times $600 = 5400

\$144 + \$1620 + \$5400 = \$6164

\$6164 - \$4030 = \$2134 Potential Profit



2020 Mosaic Silver #201 Raw \$34.99 4/26/23 PSA 8 \$28 3/19/23 PSA 9 \$47 5/12/23 PSA 10 \$375 3/21/23 894 Graded by PSA 82 PSA 8's = 9.1% 587 PSA 9's = 65.7% 194 PSA 10's = 21.7% $20 \times $34.99 = 699.80 $20 \times $19 = 380 \$50 shipping costs \$1129.80 Total Investment $20 \times .091 = 1.82 R2 2$ 20 x .657 = 13.14 R2 14 $20 \times .217 = 4.34 R2 4$ $2 \times $28 = 56 $14 \times $47 = 658 $4 \times $375 = 1500 \$56 + \$658 + \$1500 = \$2214 \$2214 - \$1129.80 = \$1084.20 Potential Profit



2020 Mosaic Reactive Orange Color Match #201 Raw \$70 5/15/23 PSA 8 \$16.25 3/14/23 PSA 9 \$75.50 5/7/23 PSA 10 \$210 4/12/23 839 Graded by PSA 77 PSA 8's = 9.2% 346 PSA 9's = 41.2%390 PSA 10's = 46.5% $20 \times $70 = 1400 $20 \times $19 = 380 \$50 shipping costs \$1830 total investment 20 x .091 = 1.82 R2 2 $20 \times .412 = 8.24 R2 9$ $20 \times .465 = 9.3 R2 9$ $2 \times $16.25 = 32.50 $9 \times $75.50 = 679.50 9 x \$210 = \$1890 \$32.5 + \$679.50 + \$1890 = \$2602 \$2602 - \$1830 = \$772 potential Profit



2020 Chronicles Prizm Black Silver #PB1

Raw \$158 5/12/23

PSA 8 \$74.99 5/4/23

PSA 9 \$125 5/14/23

PSA 10 \$335 5/13/23

1235 Graded by PSA

95 PSA 8's = 7.7%

650 PSA 9's = 52.6%

464 PSA 10's = 37.6%

 $20 \times $158 = 3160

 $20 \times $19 = 380

\$50 shipping costs

\$3590 total investment

 $20 \times .077 = 1.54 R21$

20 x .526 = 10.52 R2 11

20 x .376 = 7.52 R2 8

 $1 \times $74.99 = 74.99

11 x \$125 = \$1375

8 x \$335 = \$2680

\$74.99 + \$1375 + \$2680 = \$4129.99

\$4129.99 - \$3590 = \$539.99 potential profit

